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function kadai(lst){
var n = lst.length
var h = Math.floor(n / 1.3)
while (true)A{
var 1 = 0
var changed = false
while (i + h < n){
if (lst[i] > lst[i + h]l){
var tmp = lst[il]
Ist[i] = lst[i + h]
Ist[i + h] = tmp
changed = true
I3
1+=1
¥
if (h == 1 & ! changed) return lst
if (h > 1) h = Math.floor(h / 1.3)
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function test(){
function make_data(n){

var 1 =0
var res = [] 0.00002189157040211054:0.9999855880306
while (i < n){ 01
res.push(Math. random()) Time = 5ms
1+=1
s
return res

¥

var N = 10000

var lst = make_data(N)

var tl = new Date()

res = kadai(lst)

var t2 = new Date()

puts(res[@] + ":" + res[N - 1])

puts("Time = " + (t2 - t1) + "ms")
I

test()
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function kadai(lst){ 0.0000016131369214855695:0.999996441739504
var n = lst.length 0.0000016131369214855695:0.999996441739504
var h = Math.floor(n / 1.3) CombSort Time = 86ms
while (true)d{ CombSortll Time = 8@ms
var 1 = 0
var changed = false o N .
while (ig+ h < n){ WRICH KBD, ETHEEIFELENSD
if (1st[i] > 1st[i + hl){
var tmp = lst[i]
lst[i] = lst[i + h]
Ist[i + h] = tmp
changed = true
}
1 +=1
}
if (h == 1 && ! changed) return lst
if (h > 1) h = Math.floor(h / 1 ?) -
1 —— == = - -
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